from: Brother Arnold

Ever one of the traditional Sabbath keeper objections has

been answered, see my website, but they have

repeatedly ignored a MAJOR MATHEMATICAL

MELTDOWN that I have confronted them with.
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The reason their traditional uninterrupted seven day

cycle will not work is because when Adam’s descendents

migrated east and west from the Garden of Eden and

meet on the opposite side of the Earth they will

absolutely be on TWO different days/cycles even though



they are sitting in the same house on the same couch

talking to one another.

It will be Saturday to the one that migrated east and

Friday to the one that migrated west and this is an

absolute that cannot be intelligently argued against. THE

SCRIPTURE TEACHES ONLY ONE SEVENTH DAY CYCLE



but with the traditional count instead of ONE Sabbath

SIGN DAY you have TWO!

When Julius Caesar booted the moon out of the calendar

they did not take into consideration that man would be

traveling around the Earth and there would be problems

for the man-made Roman pagan calendar.



Pope Gregory tried to correct the floating of the seasons

which is a lot better than it was but still not accurate.

This calendar placed the months on a mathematical

count of 30 or 31 days and the weeks on a mathematical

count of one through seven paying no attention to the



moon therefore it still had major problems when men

traveled.

Man tried to solve this problem with an imaginary

International Date Line which puts them back on the

same ARTIFICIAL DATE of the month when they meet on

the opposite side of the Earth butin REALITY they are



still a full 24 hours apart in their Sabbath keeping sitting

the same house. This major mathematical meltdown is a

great embarrassment to the traditional uninterrupted

seven day cycle to say the least. For further explanation

of how it works see Attachment.
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